—— A
N = 0] &F AF S & AN A
20139 = 20l A LB H Bt AT A ~ Sl A A
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SA BB (SH) - NRAY - B Ol At o %Eﬁ HRE2
ol =T AN A& 35,767,135 16,659,718 19,107,417
= 19,589,000
< 5,070,500
Al 11,107,635
SHHIIZALE X L 2 AN (BHEES /ST 33, 147,582 14,047,719 19,099,863
23)
=2 19,589,000
= 5,070,500
Al 8,488,082
ot & HE L 22 13,210,000 9,053,000 4,157,000
=2 9,250,000
Al 3,960,000
MM ot=2H | 5,072,000 3,071,000 2,001,000
= 3,615,000
Al 1,457,000
401 AlEHIZL 2 0HY| 5,072,000 3,071,000 2,001,000
= 3,615,000
Al 1,457,000
01 Al&EH| 4,984,813 3,014,494 1,970,319
OMAILXF dlz=2HEH| 4,984 ,813,000& 4,984,813
= 3,552,859
Al 1,431,954
02 2teld| 73,493 45,450 28,043
OMAILIXF Slx=2HEH| 73,493,000 73,493
= 52,381
Al 21,112
03 Al 20| 13,694 11,056 2,638
OMAILXF Sl=2HEH| 13,694 ,000& 13,694
= 9,760
Al 3,934
23X ot HE3H| 5,654,000 2,294,000 3,360,000
= 4,724,000
Al 930,000
401 AlEHIZL 201 Y| 5,654,000 2,294,000 3,360,000
= 4,724,000
Al 930,000
01 Al&H| 5,557,204 2,251,791 3,305,413
o223 KNP ofx=&HEH| 5,557,204,000& 5,557,204
= 4,643,126
Al 914,078
02 2eldl 81,700 33,951 47,749
o8 X3 ot=24&H| 81,700,000 81,700
= 68,262
Al 13,438
03 Al 201 Y| 15,096 8,258 6,838
o223 KNP of=&HFH| 15,096,000 15,096
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Al 959,000
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Al 959,000
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= 488,355
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02 Zeltl 11,852 0 11,852
OAP&E X2 (2 H ) ot 2= 2 1 F I 11,852,000& 11,852
= 8,296
Al 3,556
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03 AlE 21| 13,863 6,847 7,016
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= 4,700
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Al 2,115
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= 3,927,000
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401 AlEHIZL £ 0HY| 5,210,000 180,000 5,030,000
= 3,927,000
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Al 442,000
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03 A& =2 THHI 1,428 0 1,428
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= 1,000
< 214
Al 214
OrSot== &X 100,000 0 100,000
401 AIEHI L 20HEI 100,000 0 100,000
01 A& Bl 100,000 0 100,000
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01 A& HI 49,550 0 49,550
o= ot& ~ ootk St HHb|
49,550,000& 49,550
= 49,550
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Heas (ot Mga)(B8BES/A6tsE - &) 2,400,000 2,400,000 0
HEHHXZ 2,400,000 2,400,000 0
St==ES83H 852 2,400,000 2,400,000 0
404 SIS UHENES 2,400,000 2,400,000 0
01 BIILEEIHN=2HES 2,400,000 2,400,000 0
Oot+==EL3H ANEHEE=  2,400,000,000& 2,400,000
HY2AZH (St AFE A ) (D1EH/DIEH) 219,553 211,999 7,554
ol 2 gl 219,553 211,999 7,554
ol 2AY| 219,553 211,999 7,554
101 @124l 219,553 211,999 7,554
01 2= 72,688 69,749 2,939
oxzuz2e+¢ 72,688
ob= 11,0023 »1H »40A| 2t % 12E 5,281
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9,383& x5 »40Al 2t 12
8,476& 2 »40Al 2t 12
7,609% x5 »40A| 2H+ 12
6,878& x5 »40Al 2t 12

70,708,000 *2.8%

7,252 40N 2H+3H + 128
10,443,000& *3.5%

1,440,200& »3H x12&
61,208,000 *50%*4/12
61,208,000 *38%*2/12

90,000 «3H «12&
70,0002 «3H « 12

40,0003 =3 123
20,0002 «2H « 128
20,000 «3H »1.5+ 128

268,980 1 %43
60,8003 «3H x20&
60,800 *150%*3 & 24
8,736,000&

100,000& 3 x 122
61,208,000 *5/12%50%
61,208,000% *2/12%60%
18,119,000&

250,000& »3H

22,520

8,137
18,262
16,508

1,980
10,809
10,809
10,809

10,443
366

136,056
136,056
51,848
10,202
3,877
3,240
2,520
3,000
1,440
480
1,080
1,076
1,076
3,648
6,567
8,736
3,600
12,752
6,121
18,119
750

10,301

131,949
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